U&7V A13101
PUUSEANFANWIUN 3

NADU AFUNNSIAY  LARWUS B)

1589 NISUININUIUFDIANUIUNLNAUIN L4

AU 10,000 kUdN15NAEANUIUAAN LULINL)

HE









i ‘
=

LR
- 3,150 U™ 5,800 UM

01NNV AUAINIE 1981902919 [ULN LS




L

N15UINTUIUEDIUIUNANaUIN kLAY

10,000 lugin1sna(darurunanluwinnu)

§




\ 4
Vo é%‘i’\;

. 7,365 Uun B . 530 UIN y

019NV AUAINIED198190 2919 [ULN LS




7,365 + 530 = [

AANNY  WANS2Y NANEAU  NANUUIY







5,423 + 564 = [

AANNY  WANS2Y NANEAU  NANUUIY







ALFAIISN

1) 6,571 + 328 =




2) 4,030 + 752 =




3) 5,324 + 132 =




AILANIITNN

1) 4,703 + 161 =
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